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Summer Test 3

e, Class: @ Date: o
1|18+0= 2|60-10—10=

o o
3| 10x4= 4 | 529-10=

o o
5 =7+6+4 6 | 62—40=

o o
7 +39 =155 8 | lofa0=

O ’ O
O | 285 + 400 = 10 =9X0

O O
1" =703 — 535 12| 7x12=

O O
13 — 465 = 850 149 | 32+ =4

o o
15| 2 ofi6= 16 | 54X 3=

o o
17 | 0.04 + 0.01 + 0.01 = 18 | 400 X 6 =

o ]
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Summer Test 3 (continued)

19 | 5432 — 1000 = C] 20 =12 X 25 C]
21| 6X = 66 D 22| 8X7X5= D
23 = 6592 + 2688 O 24| 6 X32X5= D
25| 256 X9 = D 26| 1000 + = 3531 D
27 1_ + 1_ + 1_ = 28 — i + i
100 100 * 100 D 12 12 D
29| 87 —-48= D 30| 9+ = 0.9 D
[Total marks /30)
+ 157917 |23|26]27]28
- 2146 113|192
x 31012 16[18]20 |21 |22]|24]25
* 14 30
. o Fractions 8 (152728
How well did you do? U N P
Colour the numbers of the
questions you got correct. Missing numbers Rl N A
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